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Sketch the graph and fill in the chart for each of the following. Describe the transformation beside the

graph.
1. fix)=2vx-2+3 Shoot 2. fix)=-1/2(x+1) -2 bouq et
Starting Pt: (’L\ 6} Inc or Dec: IN C, Starting Pt: ( ) "2.) Inc or Dec: ‘|OE ”
-), ;

Domain: Ez_‘ 003

Domain: (, X ' ,_U

Range: ['_2_| 90\

Range: E-!,’ ,00)
Abs. Max Or@

(2,%)
End Behavior:

x> L fix)>_2 x— & fix)>_X

Abs. Max o@

(1,72

End Behavior:

X—>~M, f(x)'jé X

x>~V fix)> ~2Z
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3. f(x) ={e/-(x—1))+2 ﬁus'rg,k 4. f(x) =-1/4(\3/x+1 5 bs::.‘;\cc
Starting Pt ( | ‘ ’L\ Inc or Dec: ] N C Starting Pt: (’\, .-5) Inc or Dec: D E'(_
Domain: C"W, ) Range: (. 4 i) Domain: C"N ‘ DO\ Range: (’.00 ,00‘\
Abs. Max or Abs Min: N 0 N (= Abs. Max or Abs Min: NOWNE

End Behavior:
X~ f(x) > =R x> fx)> N

End Behavior:
X — "M f(x) >

X— Lo Jf(x)—> X

£ X1y X1V
Crl ) =% | r( ; . Y.
¥ 3 e I J & : : -1 -5
sid i 23 #1232
! 3, e e
3 g & 1808 a3 ] <55
X Ut decimmal f:o;m'\s oo LET You AR’ aKPPA D
e what's  happening “on  the graph!




beead

5. f(x)=—J—~(x-1-3 e 6. fix)=-3(x+2)-3 bous uet
Starting Pt: ( \ | __3) Inc or Dec: )N (, Starting Pt; C—Zl_g) Inc or Dec: D E ¢

Domain: G‘ﬂa | ‘]

Range: C’M | "Sj

Domain: Range: E"3: Do)

(2, 2]

CAbs. Max oy Abs Min:

(urd)

Abs. Max or@bs Min:> (-2 i
)

End Behavior:

x— =0, fx) > "% x> \ fx)> =5

End Behavior: i
X =00 fix)> X x—>=2 fix)o> ~2
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7. f(x)=—4F/x + 2\+ 4 Lo 8. f(x)=3-1/2(x-2)-1 hesiis
Starting Pt: (’2 \.\\ Inc or Dec: DE c Starting Pt: (1 ” I\ Inc or Dec: DE c
1 )
Domain: ('00, M\ Range: C'/X) , 003 Domain: C’M ‘ mx Range: (‘“00, /X)\
Abs. Max or Abs Min: NGN é Abs. Max or Abs Min: N DN ¢
End Behavior: End Behavior:
X—> “Rfx)> M x—o_X fx)>_—X x— 700, f(x) > Q0 x— A flx) >
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Write the equation of the radical with the given transformations.

9. Compressed vertically by 2/3, rreflec’r‘ed over

the x—oxig,ﬂ!ef’r 31, and down 24.
£0X) ’*‘*23: X¥3) -4

10. Stretched horizontally by ¥z, reflected over
the x-axis, right 29, and up 87.

P)= —{2(x-29) r8F
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